A :: a
D D . *; S i & g3 0
DB 21300 W 8 Mile Rd. igie ES 2 B
. bR £ 0 -
Southfield, MI 48075-5638 ‘S Bu gB 87
INTERNATIONAL TN T
DOOR PRODUCTS, INC. iz § £33 %
P Zgwo &b
e ) on- KD
TR - o x g L&
4 £m, Ok
n o 11 E 3% %6
ENTRY-FIT™ "K2A-Series T
m ==
ADJUSTABLE STEEL DOOR FRAME ;S g
PR i
39.13" MAX. 3 e
oge o 8
Utilizing a Steel Door Panel FRAME WIDTH §
[%2]
"IMPACT" g 85
= | B2
[753 4
ADJUSTABLE STEEL DOOR FRAME < %-5‘3
K2A-Series o= |51 £
S, |&l S
s 1= a3
o £ |al My
T 19 2L
Q g Ot
= S| E |5 88
w 8l b |g =%
14 <
EVALUATED FOR USE IN THE STATE OF TEXAS § X ° - &
The Steel Door system described herein complies with the 2018 Infernational % [0} L&
Residential Code (IRC), Sections R301 & R609 and the 2018 international Building =
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following 2 ‘é
conditions: CY o
O
1. Anchors shall be as listed and spaced as shown in the details. Anchor %
embedment to base material shall be beyond wall dressing or stucco. 8 [2
2. This system has been tested and evaluated as a large missile impact protective © %
system for installation in areas that require wind borme debris protection. This Q Bl
product meets missile level "D" as defined in ASTM E 1996. o o
3. Allowable design pressure requirements must be equal fo or less than the design tu
pressure rating shown in the design pressure chart, sheet 1 of this drawing. g
4. Conditions not covered by this drawing are subject to further engineering 5
analysis. INSWING N
NE
TABLE OF CONTENTS g <
SHEET# | DESCRIPTION —l
; . . IS
; Bf;fgﬁzlvggf;fs design pressures & general notes MAX. OVERALL DESIGN PRESSURE (PSF) z
3 Comer detal DOOR PANEL FRAME INSWING oate: 5/07/19
4 Elevation & Vertical cross section DIMENSION POSITIVE NEGATIVE scae:  N.T.S.
5 Horizontal cross sections JELD-WEN | 39.13"X 85.63" | + 70.0 -75.0 pwe. BY:  RW
6 Frame & buck anchoring (7-0" door) ' CHK. BY: LFS
7 Bill of materials & components DRAWING NO.:
TX—4937
SHEET _1 oF _7

Z\Clients\IDP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4937.dwg

© 2019 R.W. BUILDING CONSULTANTS ING.




TON SANVIINSNDD aNIaTing "M'a 6102 §

ZSBLL—4 # NOUVMISIONYM 40 FLVOlLLNIO SNOISIAZY :
SUIINIONT TYNOISSIIOMd 40 auvos Svxal SVL3a TINYd 3004 AH 41Va [ONlo| . =0 ~ 7_
ALYadn I T1»n L
cecce h..wupmwmm_mo.\mnwnwéuo%:mumg e o S47] 3000 Odi/08! 8102 Ol zz/z1/1 U o |y ) % "
o= g ¥
‘ONI ‘SINVLINSNOD ONIgUNG @u X o1z d 2_
(S31¥3S—-vZH) INVEd T33LS W] & gle X
SZLYOLF I'd SVXAL dal i M slg|2 &
“I'd PIWYss ‘4 uopuly :Ag pedsbdeid sjuswinoog 19NA0YHd = W 512 5
LI LI
o LOINHOS 4 zoaz.\m.m
e orri S e
L A o Ve
3 ‘ Y.
_._\% ¥ %, : e £
NM ﬁmv 3- sata J\Ub‘
ST SR
Mﬁﬁ)ﬁ?&?ﬁff
[«
g 3
oL
- :mN..V - m m
b
ﬁ (7]
@ b S S
e . . \ . M m
\ / >
& o
D <
m zZ = m 72]
[y, < x o
O=s @) Q
0z LLg Ld O
g9 3
agQ i
QZ =
O M . 1753
O (a4
&) g
[
w &
=+
n
O R
of ]
el foe)
=z 3
O
H N
S 2 *
i = ( =
5 L f i a g
O _ f o % =
=3 i : 2.
~ 355 S5 | = o8
£ ® ﬁ =
[se]
m - Mllll, :MN.— l‘o\‘.m @
=z A
-
o
oo
O
i
R \ Q2
|\ 3
ac
oz az o
S S g
g S
& it 4 04 4
W\ o
A\ b o
| mw m ;
S
mw =
Z
35 g =
== — —t o N
g I E =
= B Ad Zw
mJ LLi CNL o [ R >z Z
= EZ =) z X
i <
| 2@ _ Sk
1% Q0 X3
0 mQ
v
i
28
@ — IHOEH TINYd XYW .£8 - M =
-1 <L
<
ol

BMmp £ £6p-X 1\SDUIMEBIQ ~ D\UQ T33LS M STIYIS V2 - £90L-ua\sul Jo 1daq sexal - GAININYNYId daNSIUBIDNZ



‘AN BANVLIINSNOD aNigning 'Mm'd 61028 Q

Z68LL~4 # NOUVMISIOR 40 ILVOIAILNIO SNOISIAJY
SHIANIONT IVNOISSIH0Hd 40 QuvOs SYX3L V130 Y3INHOO Ad 31vd [ON} o =ln| ~ 7_
cacarela S471] 3000 2dI/28l 8L0Z 0L 3vadn| zz/zL/L| L |<|wi| S|
LBLE'BGY’ELE FON suoyd : [l M
G6ece 14 OoMIbA OCZ xo8 ‘O°d k\wg XTGNISSY 90 10vd W 51 2
“ONI 'SINVLTINSNOD ONIgHNG N . 21 3_
(S31435-V2y) INvY4 T33LS o] [EHle X
£ZTLYOL# "3'd Svxal ddl 7 m ¢ x w B
“Ad IPHUYDS 4 uopuki :Ag pedode.ig sjusuinoog 19Na0Yd 218 W m € &
v »,W
P s “
¥ Sy
m-:-.Wf.c'comomm‘tﬂﬁpmﬂ»:-:««a::_m;w
5 LQINHOS 3 NOONALE
a, iy
B¥ o MMMW g E S
O ) =
NG S I e < =
W7l J0 T W
e T 7
o <
2 o
: |
)
2
T
_7/\ - /a ) / 9/
)

CORNER DETAIL
IDP ENTRY-FIT™ ADJUSTABLE
STEEL DOOR FRAME (K2A-SERIES)

JAMB CLOSURE TRIM

= <
o o
- =
w 1)
o o
o) 1
% <
<<
d
3] o
o o
T
O
<
w
T
z
=
Q
T
2 3
£ 7))
= <
= no
H o<
g W=
2 <2
0 Tx
i La
o o xI.
= T Q-
<< = < <
-3 W?
< %

/4
[/4

CORNER DETAIL
K2A-SERIES FRAME @ SILL

Bmp 2 €6p-X L\sBUIMBIQ - DAY T3ILS M SIS V)l - €90L-Ua\sul 40 1daq sexal - GALNINVINUIG da\sIuatD\Z



TONE SINVLINENDOD SNIOTIHIE MY 6102 @

ZG8LL—4 # NOLLVMISIOZYN 40 ILVOIHLLNID SNOISIAIY
SYIINIONI mwm_«‘zo_m.wm_..*oma 40 aM¥vO8 SvXiL zo:.om% wmoﬂm(w@..ww\otmg AH 41vd [ON| o " 7_
/616659°C18 ON suoud : S47] 3000 0uI/98I 810z 0L 3lvadn| zz/ei/i] L || Y| (L] &S|,
SEGCT 14 OOMIDA 0FZ Xog ‘O'd \N\w@ 'ATENISSY ¥0 Ldvd 5 W QR °
"ONI “SINVLINSNOS 9NigTing A g | 4_

(S31¥3S~YZy) INved 133LS ol 1&5lgle X

£ZLPOL# "3'd SvxaL dai i M ol l|E &
‘A'd PIIYDS 4 uopuk :Ag pedodald sjusunosoQ 119NA0Nd £18 an m W -

hﬁd..
O AR A% ) %

satasaus

m LAIWHOS H NOONX
wb

anesd

2ebrevaenss
asovenvesntyRLEEIEIIUELEY z
.

R .... M. it
%& * ,oaoo gy P u-.oﬁ.U 3&4.&
¥ nmu%\sqe s o i

;NM .-:..ua-.a.ha }»MW-.
R T

"

~7

e

('dAL) "aw3
NIW JF/1-1

s e
e s
b
A

{"dAL)
dVO XYW /1

{'dAL) ‘a3
NIW /-1

(40)50)

INTERIOR

1/}
\

OPTIONAL FOR ADA SILLS
(SEE DETAIL SHEET 9)

/"1 "\ VERTICAL CROSS SECTION

\4/ Inswing Shown

DO

22
EXTERIOR

— SEE HARDWARE CHART

"F" SERIES (F51)
"B" SERIES (B6ON)

5]
~ Rm
> =
-t 0

D

L
- - - u
<
_x*=

Bmp'L€61-X 1\sBUMBIQ - D\HQA TIILS M SIS V2l - £90L-YA\su[ J0 1daq sexal - S\LNINVINYId dN\SIudID\Z



ZA\Clients\IDP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4937.dwg

1-1/4" MIN.

EMB. (TYP.)

v e
S UG

/4

/"1 "\ HORIZONTAL CROSS SECTION

§ / 2xBuck Construction
Inswing Shown

23

\
W

@

(4050

W

7

JO

29 18

/3\ HORIZONTAL CROSS SECTICN

5 ] 2xStud Construction
Inswing Shown

EXTERIOR

INTERIOR

EXTERIOR

INTERIOR

ot
=
-
g
=
.
s
. Bt
Ry -
B
o N
D
ey
=
P2
\/

/,

e
!‘ LGRS

PRI R B 1T

— 4
1y

»
oL g
« ¥ o
"7

g

3"O.C. MIN, ——|

1-1/4" MIN.

@ @ L—’—’“EMB. (TYP)

/"2 "\ HORIZONTAL CROSS SECTION

Steel Stud Construction
Inswing Shown

>

/4 "\ HORIZONTAL CROSS SECTION

2x Stud Construction
Inswing Shown

PR N 1P

d\ R
st C:,"-
G
3
K
H
Sannee

= SCHMIDT
o

&

o

104123

snrasaceevtassaRnearere

NDON

aes

ens

/‘/J‘— e

b
& o
e
hge]
Eg &
£33 n
o M
N u ¥y
B s
b dm
e -
0 ]
° oo
€ T 0
2 R
>m”m
om
9
]
x
o
m
(o]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o~~~ m
" s
= =
e O
L |
‘? 7]
S A
T FUR e
Q—'O

=g D
& o =
u.gg%
5l @ ¥l N
3 W |9 &
QB;—O
2l |g <

o o
0>

-t

REVISIONS

1/12/22 |UPDATE TO 2018 IBC/IRC CODE

1

NOJ. DATE

bare: 5/07/19

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-4937

SHEET _ 5 oF _7

© 2019 R.W. BUILDING CONBULTANTS INC.




Z\Clients\IDP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4937.dwg

47 q
<
.4 a
a.
<
a4
=
-

BUCK/STUD /

2X BUCK

METAL STUD

(2@ EACH

LOCATION)  ~—

HEAD & JAMBS
(TYP.)
>
<€
=
J
-] O

e

;\‘ ' A1 I -
MASONRY/ S

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

3. Concrete anchor table:

edge distance fo mortar joints.

7' Door

1. Concrete anchor locations at the comers may be adjusted to maintain the min.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concretfe anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

(TYP.)

W N - - -
1apconN® | VA4 1-1/4 2 4
DeWALT - - - -

uLRACONS| 14 1-1/4 2-1/2 4

W » - - -
1apcon® | 316 1-1/ 3 1-1/

WOOD SCREW INSTALLATION NOTES:

wood screws to prevent the splitting

of wood.

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

5 g % & 51
o (TYP) ‘7 = |
I — . ‘
y .

(it lﬁ |
+ 0
hE

BUCK/STUD A : .

. g

o) J

I
FRAME - | HEAD & JAMBS
1 l {TYP.)
i IH |
SESS%ESE I 2X BUCK o ' —T
5 (TYP) * : 2X STUD o {0
8 ; | STEELSTUD
g | ®
<o @ LOCK JAMB
E h
i1 s |
Ll
|
HINGE JAMB
FRAME ANCHORING
7' Door

18 e 2X BUCK

Y
\
®

15 STEEL STUD e

HINGE DETAIL

i
O o
Sy 2 ,
SoxFial 5507 3o o EY
FOTCD"""':%E o Ex 2 Wo
AT R B 5. .8 z-
' s 3 N Om o7
¥ wy SRS - z)
IS | ot 1 I w ah
; s F o - gt
-t tuiw 53 E oo %
;O:‘ PR 2 284 ZZ
y P i £ £2p 99
P, 10 > Hgo nE
7R - A 2> ﬂé
G 32 L Zowp &
?3@ st o” e
zz‘{%"‘:"‘i - & O FD
T anadness o xS *E
v > O [T
e £My Ok
o
2 5.0'5 =)
2 ® Rok I
™~ o« 05
« @
@ R
~r £ E
P R 3
- 2 =
o &
w
a1
)
B x| 2
-
g = & I
N } 7 S
1 <D:
S S
X
SRS
SEE STRIKE PLATE R IDC':
DETAIL = o e~
vy ) <\.,
{TYP.) Q@
o
bl o |x ¥
D) Ld =
=] =~ -
) w g &
& P
LDix-
| | ] S|
73]
[
]
STRIKE JAMB o
9
&
oSl |
o 1z
)
© &
o
& é.
2
K
a
a
)
ONPe y
L
Rz
~lo
=z
| oaTE: 5/07/19
1 SCAE:  N.T.S.
— owe. BY:  RW
CHK. BY: LFS
DRAWING NO.:
STRIKE PLATE DETAIL TX—4937

SHEET 6 oF 7

© 2019 R.W. BUILDING CONSULTANTS INC.



© ZA\Clients\IDP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4937.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A | 2X STUD FRAMING (SG>= 0.42) WOOD
B | 2XBUCK (SG >=0.42) WwOOD
C | METAL STUD (SSMA STUD 5508162-54, Fy = 33 ksi, Fu = 45 ksi) STEEL
D |1/4"X2-3/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR HOLLOW BLOCK CONCRETE

CONFORMING TO ASTM C90 OR ASTM A653 STEEL

F [ 3/16"X1-3/4" HWH ITW CONCRETE SCREW STEEL
G [ 3/16"X 3-1/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL
H [1/4"X2-1/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL
K [1/4'X1-3/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL
4 | #10X 1-1/2"PPH SMS (1-1/4" MIN. EMBEDMENT) STEEL
5 | #10 X 2" PPH SMS (1-1/4" MIN. EMBEDMENT) STEEL
6 | #10 X 3/4" HWH SELF-DRILLING TEK SCREW (3 THREADS MUST PROTRUDE THRU STEEL) STEEL
7 | WEATHERSTRIP -

8 | DOOR SWEEP PVC
15 | 10-24 X 5/8" PFH MS STEEL
16 | #8 X 2-1/2" PFH WOOD SCREW STEEL
17 | #10 X 2-1/2" PFH WOOD SCREW STEEL
18 | 4" X 4"HINGE STEEL
20 |10-24 X 1/2"PFH MS STEEL
22 | IDP {K2A-SERIES) EXTERIOR FRAME (18 GA. - A60 GALVANNEALED STEEL) STEEL
23 | IDP [K2A-SERIES) INTERIOR FRAME (22 GA. - A60 GALVANNEALED STEEL) STEEL
28 | LATCH & DEADBOLT REINFORCEMENT STEEL
29 | HINGE REINFORCEMENT STEEL
31 | ADA THRESHOLD ALUM
40 | 7' DOOR - SEE DOOR PANEL DETAILS -
58 | DEADBOLT STRIKE STEEL
59 | LATCH STRIKE STEEL

1.56"

3:1 -1

03"

23 INTERIOR FRAME
K2A -SERIES

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33585
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—118B52

Documents Prepared By

1.88"

22 EXTERIOR FRAME

K2A -SERIES

A

TN

—"] —— 0.5"

31 ADA THRESHOLD

IDP

—~
0
"
L N
u <=
! i
§ Wz
X 59
o= |3 =%
S, |= =
= |F| a©
5(.’. n i
w1 2=
Bl o g BT
ol WIS
= L3
o) (*7.’ [
e z
o (2
P
Llm
W
)
o)
S
O
X
S o
o =
O
] I 7
(o]
~ E:
e
i
o
a
3
8
N
Nz
=
-
oatE: 5/07/19
scae: N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—4937

SHEET _7 OF _7

© 2019 R.W. BUILDING CONSULTANTS IND,



